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Short answer questions/problems

1.  Six months from today, you intend to make the first of 20 monthly deposits into a savings account.  Your first deposit will be $1000 and future deposits will increase by 1% per month.  Three years from today, you plan to make the first of 15 equal annual withdrawals from this account.  List the sequence of calculations that will allow you to determine how large your withdrawals can be.

Future value of a growing annuity, present value of a lump sum, present value of annuity (solve for payment).

2.  Two months from today, you plan to make the first of 30 quarterly deposits into a savings account.  The interest rate on this account is 5.75% per year compounded monthly.  What interest rate should you use when calculating the future value of your deposits (Note:  your answer should be a number)?
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Use the following information to answer questions 3 through 5.

You have just purchased an asset that is expected to produce $5000 every 6 months beginning 10 months from today and continuing through 3 years and 10 months from today.  The required return on this asset is 8% per year.  You plan to calculate the value of this asset today by 1) taking the present value of an annuity, then 2) taking the present value of a lump sum.

3.  What would you enter for “n” (or “N” on a financial calculator) in step 1 above?  7

4.  What would you enter for “C” (or “PMT” in a calculator) in step 1 above?   5000

5.  If in step 2 you use the same interest rate that you use in step 1, what would you enter for “t” (or “N” on a financial calculator) in step 2 above?  4/6

Use the following information to answer questions 6 through 10.

You have constructed a portfolio consisting of 3 stocks as follows:

Stock
$ Invested
Expected Return
Std. Deviation of Returns
Beta
US Internet Consultants
60,000
25%
47%
1.5

Them Steel
30,000
19%
33%
1.2

Food Wholesalers Inc.
10,000
8%
18%
0.7

T-bills earn 5.87%.

6.  What is the expected return on your portfolio?

E(rp) = .6(25) + .3(19) + .1(8) = 21.5%

7.  What is the best measure of the market (or systematic) risk of your portfolio?

p = .6(1.5) + .3(1.2) + .1(.7) = 1.33
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8.  Suppose you are considering changing the amount you have invested in each of the stocks listed above.  In the space below, sketch a reasonable graph of all possible portfolios you could create by investing in these 3 stocks.

Curved area to left of the 3 points where the 3 points serve as anchors.

9.  Using the graph you drew for 8, identify the optimal combination of the 3 stocks if you limit yourself to these 3 stocks plus borrowing or lending at the risk-free rate.

Point of where line through risk-free rate is tangent to the feasible set.

10.  Assume you are very risk averse (not very willing to take on risk).  Using the graph you drew for 8 (and 9), identify and label a reasonable optimal portfolio if you limit yourself to the 3 stocks and borrowing or lending at the risk-free rate.

Point on line close to risk-free asset.

_1031214489.unknown

_1031214536.unknown

